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WTT-2 English
English fawg oz snurRa (16-30) agREfa ust & I Hfoq
Read the following passage carefully and answer the
questions .(Q.16 to19).

A comet is a small, icy and dusty celestial body that orbits
the Sun. It consists of a nucleus, which is the solid centre of
the comet and a coma, which is the cloud of gas and dust
surrounding the nucleus. When a comet passes close to the
Sun, the Sun’s heat expands the coma and creates a bright,
glowing halo called a coma. Comets are often called “dirty
snowballs” because they are composed of water, methane
and other volatiles. They are believed to be remnants of

the early solar system and may provide insight into the
formation and evolution of planets.

Q. 16 What is a comet?

(A) A small, icy and dusty celestial body that orbits the Sun.
(B) A large, rocky and dusty celestial body that orbits the Sun.
(C) A small, icy and rocky celestial body that orbits the Sun.
(D) A large, rocky and gaseous celestial body that orbits the
sun,

Q.17 What does a comet consist of?

(A) A nucleus and a halo (B)A nucleus and a coma.

(C) A coma and a halo (D)A nucleus and a tail.

Q.18 What is the coma?

(A)The tail of the comet.

(B)The cloud of gas and dust surrounding the nucleus.
(C)The bright, glowing halo around the comet.

(D) The solid centre of the comet.

Q.19 What causes the bright, glowing halo around the comet?
(A) The Sun’s heat expanding the coma

(B)The Sun’s light reflecting off the coma

(C) The collision of the comet with another celestial body
(D) The eruption of the comet’s nucleus

Select the best degree of comparison for the following
questions. (20 to 30).

Q.20 Winter is than summer.

(A) more cold (B) cold (C) coldest (D) colder

Q.21 Mohit is the runner among them.

(A) faster (B) fastest (C) fast (D) more fast

Q.22 Reena speaks English than Meena.

(A) more fluently (B) most fluently (C) fluently (D)None )




6.23 This task is than the previous one.

(A) most difficult (B) more difficult. (C) difficult (D) much
difficult

Q.24 The candle burns than a match stick.

(A) long (B) longest (C) most long (D) longer

Q.25 The pen is mightier than the sword. The sentence is in
which degree.

(A) positive degree (B) comparative degree

(C) superlative degree (D) None

Q. 26 Your mother is more beautiful than youThe sentence is
in which degree.

(A) comparative degree  (B) positive degree

(C) superlative degree (D) None

Q.27 It is the lane here.

(A) narrowest (B) narrower (C) narrow (D)more narrow

Q. 28 Very few flowers are as as rose.

(A) beautiful (B) most beautiful

(C) more beautiful (D) None

Q.29 Mount Everest is the peak of the Himalayas.

(A) high (B) highest (C) most high (D) more high

Q.30 It is the best option.The sentence is in which degree.
(A) comparative degree (B) positive degree

(C) superlative degree (D) None
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